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NONNEGATIVEDIJKSTRA(S):
INITSSSP(s)
for all vertices v
INSERT(V, v.dist)

while the priority queue is not empty
u « EXTRACTMIN()
for all edges u—v
if u—v is tense
RELAX(U—V)
DEcCrREASEKEY(V, v.dist)
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BELLMAN-FORD: Relax ALL the tense edges, then recurse.

BELLMANFORD(s)
INITSSSP(s)

while there is at least one tense edge
for every edge u—v
if u—v is tense
RELAX(u—V)

BELLMANFORD(s)
INTTSSSP(s)

repeat V —1 times
for every edge u—v \V; :\ X

(e

if u—v is tense O [ = t

RELAX(u—V)

for every edge u—v
if u—v is tense
return “Negative cycle!”
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BELLMANFORDDP(s)
dist[0,s] < O
for every vertex v # s
dist[0,v] « oo
fori—1toV—1
for every vertex v
dist[i,v] « dist[i— 1, v]
for every edge u—v
if dist[i,v] > dist[i — 1,u] + w(u—-v)
dist[i,v] « dist[i —1,u] + w(u—v)

BELLMANFORDDP(s)
distf s]<0
for every vertex v # s
distf] v]<« oo
forie—1toV-—1

for every edg_e u-v

ifdistf] v]>distf] - u]+w(u-v)
distf v]e<distf  u]+w(u-v)






